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‘Anandwan’ is associated with

- A) Vinoba Bhave

% Baba Amte

- C) Indira Gandhi

- D) Mahatma Gandbhi
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Anandwan is associated with
Murlidhar Devidas Amte popularly

known as Baba Amte, an Indian
social activist and social worker.
Amte founded Anandwan in 1949 as
a center for the treatment and

rehabilitation of leprosy patients.




‘Phoenix Settlement’ is associated with

\\/K{ Mahatma Gandhi

- B) J L Nehru

- C) Rabindranath Tagore

- D) None of these



Phoenix Settlement was founded by Mahatma Gandhi in
1904 in purban South Africa. It was the place where
Gandhi §i practised his first 3 principles Satyagrah,
Sarvoday, and Ahimsa.




Myopia is a disease connected with

- A) Lungs.
- B) brain .

ears

\D/yes
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Myopia, hyperopia, and presbyopia are all common eye
conditions that affect how light focuses on the retina.

Myopia

AL st
Also known as nearsightedness, this condition causes far-
away objects to appear blurry. It occurs when the eyeball

is too long or the cornea or lens is shaped incorrectly.

Hyperopia, -

Also known as farsightedness, this condition causes
nearby objects to appear blurry. It occurs when the eyeball

unl—
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is too short or the cornea or lens is shaped incorrecitly.

Presbyopia oitthage

This condition makes it difficult to see things up close,
especially for middle-aged and_older adults. It occurs
when the lens in the eye hardens and becomes less
flexible.

NORMAL EYE

Light rays enter the pupil and pass through the cornea
and eye 5. The focal point reaches the back of the
retina creating a clear image.

MYOPIA

Light rays enter the eye but
the focal point is in front of the
retina and does not reach the
surface. Causing images in the
distance to be blurred.

HYPEROPIA

The focal point of the light
rays entering the eye are
behind the retina causing
visions closeup but clear
vision in the distance.

PRESBYOPIA

Similar to Hyperopia where the focal point of the light
rays reach behind the retina. However the cause is the
physical change in the eye lens creating blurred images
at reading distance.
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The weight of a body acts through the centre of

\7A)/ gravity .

- B) mass -

- C) both (a) and (b) .

- D) buoyancy
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A wheel-barrow is an example of
- A) class lll lever
- B) pulley system

- C) class | lever

\%class Il lever
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Combustion of a candle is a/an

- A) photochemical reaction
- B) physical change
- C) endothermic reaction s

/> hort —=
- exothermic reaction



An exothermic reaction is a chemical reaction that
CIEERER energy in in the form of light or heat. The burning
of the candle is an exothermic reaction.”

[ Endothermic reactions - Heat is absorbed, example
melting ice is an endothermic process
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The splitting of white light into its components is
due to —

- A) transmission

Mispersion

- C) reflection

- D) refraction



Screen
Red

S Orange
"\\\... Yellow
Green
Blue
Violet




A small drop of oil spreads over water because

- A) oil has a higher viscosity
- B) water has a higher viscosity

- C) oil has a higher surface tension

Mvater has a higher surface tension



The surface tension of the water is more than that of oill.
Therefore, when oil is poured over water, the greater
value of surface tension of water pulls oil in all directions,
and as such it spreads on the wi water.
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An object which absorbs all colours and reflects
none appears

- A) blue
prost
& black - vetZ=—
- C) white
..... - D) grey



Radiations which is not emitted during radioactivity
is )

- A) y-rays - (gamme g —
B cathode rays [/ (£7) (q ]
.C)arays - (]

eI -D) Brays et




Alpha _rays: Consist of helium nuclei (positively charged).

———

Beta rays: Consist of high-speed electrons (negatlvely
charged).

Gamma rays: High-energy electromagnetic radiation with
no charge.




Magnetic keepers are used to protect magnets
from

%elf-demagnetization

- B) demagnetization due to heating

- C) Earth's magnetic field

- D) effect of other magnets



The quantity 'weight' is measured by

- A) beam balance

- B) common balance

%pring balance

- D) balance wheel



The principle due to which circular patches of light
IS seen under a tree during day time, is similar to
that of image formation by a é?

- A) concave lens J

B pinngle

- C) photographic camera

SRk - D) convex lens




A compass needle cannot be used to detect

- A) magnetic North-South direction

- B) ]{ﬁlarity of a magnet

%tyength of a magnet

- D) diregticn/of magnetic field



In which medium, velocity of sound is maximum?

s;)(metals o(e)\/l,w” a7 T
- B) Air

- C) Water

- D) Polymer



Decibel is used to measure the intensity of

g

- A) magnetic field (Texa)

{;Bfgound

-C) light —> [Wmars)

- D) heat —— (3‘&@)



Decibel is a term connected with

- A) air
- B) water
%nd
- D) sall
IR



Which type of mirror is used in the head lights of
vehicles?

- A) Plane mirror -

@Bﬁéncave mir;;ﬁ

- C) Convex mirror .

- D) Parabolic mirror



The height of a geo-stationary satellite from the
Earth's surface is approximately

\-,Kﬁﬁ_ooo km

- B) 42000 km

- C) 30000 km

- D) None of these



The best conductor of electricity among the
following is

- A) Copper -
- B) Iron -

- C) Aluminium -



The angle in which a cricket ball should be hit to
travel maximum horizontal distance is

- A) 60° with horlzontal
S
&B’)/& with horlzontal }*/

- C) 30° with horizontal

- D) 15° with horizontal



The minimum number of geostationary satellites
needed for uninterrupted global coverage is

==

-A) 2 -

¢

.B) 4 op )



Natural rubber is the polymer of

mprene :

- B) Styrene

- C) Butadiene -

- D) Ethylene -



In addition toffhydrogenJthe other abundant
element present on|Sun's surface is
Meliumz

- B) Neon -

- C) Argon

- D) Oxygen .



A“nuclear reaction! must be balanced in terms of

- A) mass and volume

- B) energy and weight

- C) number of electrons
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